Homewsrn 6 @ Liwchr TRanSERmeAdonse 4 Tremon pHisms @

$2.3 # Y, 28, 60,72 //g:a,g# 29,38, &8 //§t/-a#/a// §723 4 9’//5’2?#65//&.##&;-5
FRom  SPEnwCE INSEL ) FRIEPBERG T QMM«‘A? Lineo, /%/)Mm 2 &f

_,Ejl_ﬁ:_ij Let p\"[q ’03 _fa] Give Aha dermenn
Co d-omr.ur\ a-C f\’l‘\n Lineor 'M\-ni’fﬂr{(m/{’l'un ‘}mluma(ﬂ -Q’:Mf-\

We cdefine L, (x) = Ax this meky L, Ahe  lineor

’IL'/aLnJ'o[Uf e i Ir/w{l-u.ﬂ-cj #Jm A 7:' 74'-3'4“-"“@ °‘-'-;b "'W\'\ OUPI\
Yex
dimensions J ‘gt /fAmA 6o S0 whod X must 62 puIP\T ¢

'Icf;r AX +o be ' uue/u-— CJ@::&C\\\P-J netrix Pradw-/'t e re
Sinen [’\ (s Ax7 =) X is s>,

beloss
But M AX s (=3 )(3x)) — (2x1), Hencs \ seless

3| 2x]
L R — R
P T
du PP Co BLUMG\{\A - w_/‘___/_\\

W—‘
R&mo-(f«t..' I Sofved wran /uﬁLLw. JAPS y /oo[( 6"/”f“i 14/ /47_ ’P
— g

S27428] Find o standocd wmotcix of T given

et T ([5]) = [35%]
IS

T([ = zixixz] [Q]X+
>< + Xz
[? i J]Q S’hkl\alo\rcﬂ mw)f[ﬂx G‘FT

Saruy lam‘uwup war Far A,— - .
T = Ax i WC(/"O/-O/L
Samg [09/(6 a.iyfoffe.r AT J 7?x2 > Lok (ax)

e —




© J.7# ag 1 @)
- j Given T=: ”2 zx-'“% e ! ¥ ole,ﬁhe‘/ 67’
T ([Xi’.]) = /Zéizxz 'A’h«j {’ﬁunc[uw/ fedtix afol'T
X +Xz

2. 7#60) Sopps. T P lineor  and
T = 19 = ()=
ottt T ([3]) (amd_eglom how qon did )
e = £ e) = (B - 47 =15

“wred hemempnaty
of T,
Tie = 570 - 37(1) -+ B

Tearema) 1o 1o @™ wan v (12]) = gﬂ
he, ot

\ 1S T' \i‘f\wr ? (.wp[u.lr‘r\ W’/‘-')( gr it 3

T(elel) = ()= [&) = e [Tl

. ( Cuowrmin Ltf—"—’x«

T (<[1]) # T([])) AN




A EH a"{] ana( Ston doved mq’ﬁ’?')r a/l 7 andd g ;Z
+o defermine whe Her : s
D g

()= 2R e =[]

We haow T i 1o o NU(LT))={of

s

ot ((71) = 7
ﬂ»mj( we v\uuj\ + Cu.ktluvl-b/tn. Nul,é (C'T])‘ Nt
Al ([T]) = -] #o - {_T]ﬂ exists | Thes

- -~
| [(Tlx =0 = [T [(1]x =(T]x = @ = Xx=0.

He,nu/ i’\vJU( (Lﬂ) = {CI} "T‘DET/@

1n the coage TS \an-a R™ we hove [Cerned (T) = Nl ([TJ)

Removlt :
N\VI _wpalocz{e; €03 Tnmc)-wr*}'ﬂm“n:} Carnfuse Ahe netetions fromn
(3"‘"["5 wie ohﬁf”fue,\;t r\cr'h»-’\fun o n m/\f.r ‘f-u{”'c,,

Hene fo Hme, Jariowns
The P(ou‘F Xk“';b T s
—\-r;.-_lma, Let me onCopr SNt
ISS ingy fama gy e \er.

W‘ Vs W be o \inear epeentvey, T 15 (- PP Ker(T):{d.}j
= x=v Wxye€eV

—_..:‘;;l Acr inme T is -l . This  means T(x) = Tiy)
L'-e.+ >< € Ke-l" (T) T(O) = O ‘Vt‘\-U\I T(X) — T(O}‘: o

and by 1-boprep T we fd x=0 hwme Wer (T)E fol and
fol g Wer (T) sine Tla) = O Wer (T} = 40§,

-t Merned (T) =} i not Hoa
Sert T YN Xt cu\rrem#la,

here

and ete

c_,\eo-(lva
<= r Asswime Wer (T) = fa] Suppsse. X% € Vo oowed

D X-9) @ Ier (T) - gt Wan (T =10) = X-v =0 = X=4,

Henaw T is =l

(FeeL Free To usE THU THEGREM oN TEST ETT...)



mgg/ Find +he stonderd meteix  of T:[PWI——;

R thed beles [ (D)

and vie [T) + determine whebher T is onto,
X X, — Xz + 2X3
T H;” ) [_zx‘**“?xy
X, =X + 2%
...'X,-I-’Z)(t_;_xg
if‘ T 2 O >;<’|
¢ = |- -3 0 2
T X3 - ?l- '!i 2 o X3
Ky -1z I o Xy
\___/\’/_____,
[T] Ahe stundacd metrix A T.
"1 0o 5 o]
_— 3 Is)
ceef [T] [f i
o o o U
21
= (T) = Span “‘] [_
,_.> t‘an% (3 . : é
= \’a\r\k (T) = a ?é "l It T s not entu )
V - 2% _ ]
‘5’59.3#&? Defina T(/ﬂ):[’; 2 AT | A TJ
2x + ]
Vohe et T (V) F (717 simee T (T tw)=L(TIT()=Y
s 1l -~ » i
qq)rcwa'? v = U][Tl]‘;r L'I_]':hl:'!"!],_g\owe
con ARnd inverse ’l‘Ya.nf—foer'{'ldr. (La Gxue.r'l"\\r\% ET])
1o o |21 |
[ET]! Il = —ll ﬂ;; —? ci ?2 —> ﬁ’eF(CT‘]’T) =[;:J=:{: : ::}
2 g [ lo © | -
(T)
-
___"‘\ X z =1 \ ™ @(-—-U&,&.?
[ (;):[5 3—-1]7 = |gx +39 ~ 2
4y 2 -1j}Z U 24 = 2

22X~ +
5% +39 %
Ux +29 -2

)._-

| Che,cfn Ansarer * T‘(_Tﬂ (g)) = T(

o Short

ol oot iun

(§) A



§73#/9 Flnd (a,) bogig ;Gr ré.n}eff') > (éj é“I'J for Nwé((r) ';[ @
N (T) F# fafg rar\ren D

: ::‘ Xi T ZXS’ + X‘i | @

2 — — {t O

] X, X, +3><3 + 3%y ot [-l o
Xy Xt Xy

{ O il { | o) o O
(a ) r(ﬁ’( ( © 3 2 — SRR N
-l o | O O o l

lr

O
T T = \“Vd'i' Co lu wAn S,

> T[T 1

Besis  For Came (T).

(b) Given reef (ITT) ebeve we

‘ Y
[T]x - O gﬂf o= LX‘IX‘I Xg”, X‘-{i}

[

SN S'e(ue_

. r
w ik eoiR netie  Xo s feen L._xlmu,/

X, = 0 ':, "_Ci)
Kz = 0O - K = ;} = X, o
Xq = U ><‘*t o

) BM(} o Nuld (CT])

- . O
£y S{mPLB’ ilcij}

f’?emar/z g I /(ncwu ///Aem are

[Hases be cause a# ///Aedf;)/
e oiy casSed  ra /é-cﬁl/ e, ﬂ—e | _
Oo/wmm ‘K/Jaa (s s{pa/m&/ 68, /L L7 Pfuirf’ C‘a/r,
am/ f)v\ﬂ g(oa.u, (S ‘r/ofmnu/ be, Vecforr O pESTINY

d
in fh vetor fsrm of Fh sol® Fo [T]x = 0O,



\§ ;z_a#n/] Dedermine i M Irneor dranetur e n ‘ @

x £01)
—U—: Pz.. —_— ﬂzz 1 okb(,fmeoﬁ (Da U(—P@c)) — [{I[Jj]

L’is_,l"t .
T Sw,@grms o Show I(C;M.Cv) = 4_(’)]
U (F) = O}

\/(,M(U):: {{—'(X)epz
= Jax?rbx+c et [ [0 +b+cC, 3a+b]:o}

—

atb+tc =0, Ra+b:o}

——

= { ox*+bx+c e P

Nohw Mb we howve ’;—eg{"j bt ?(——vnhnewn.; &, b ¢
\ "4 s

Yhere uut\l he Ook naneg Sef T [fihe

a 9 o8 /”NZ ’g:r‘!ﬁ_

Aluss -
S\a/Sk/W\ o unsfi)—or\:&), T/l selue wihh A
v O fﬁ-/l)\.o. p

b = —a +3da = O

N oo
oy

- 2o
— O -

’\/\I\WS, Con Hinv fn} Yha Vler C’U’) c&ichM("lan/

Ver (V) = 5&x2+6x+ce P, | b=-24, C:a}
= o (-3 +1) | aelRf
# j0of
—rl(\,b\-j _U— \S 1(\.d'|' [

U (a (x?- Z><+l)) = U (alx-1)*) = 0O }
9

CD WPW CL,UB )




g?.B#GGJ &‘ue:q TV — W /¢ an /:ram:»r/aﬁ(?n,,/ @__
a.) Trove 1[(@ =PV, Ve ’V,\] s LT then T(F):/T(bﬂ),'”ny%)jLI

{7) Frove WA F s bois sV fhe T/F) 7 baser 14’/ w”

C.) B"v‘( f"/ V o A\fnrryl\g a{f;‘)’lbﬂ.fﬂ’ﬂc«-ﬂ ﬁvyx‘ __W f_rr a../(o aru/
dim (V) = dim (W) |

\

e

Q.) Assiumae ﬁ"‘f \Z ,\jt, \/3/—..
;T(VI}( T(\/z) [Ty T(VA)} < Yj\/ (LUQ kl’lv»\.} T(V")éw

y ,\/,-,} < v ¥y L—T_ Cansfg[_p\

for ewdh 1=y om0 Siae T2V W ). Suppese
o, T + G The) -t . T(Va) = O

Cme T ig an isomer phiom  woe hove Ta‘ exists ondd
s cdte e lDmenr drons Grmeashon . ’T’km,r/

GTW) + GT (V) +-t c.mT(v,\)) = T r)

-1\
T (
- -
= c, T*'(T(VI))‘E—C?‘ TJ(T[Va))""""]' ChT (T(\/,-.)) =
= ¢V, t Ve Ao A NVp = O
= CI-_—;CL::-r”-:—C,,!:() (Ja LTO’('(%.

Hone T (8) i LT swbechf WL 5

\;) Assima B 18 @ bosis ur V. Thaw (3 = -;V./\/;, - \/A]
$pans AVa and (3 s LI. B% ]DM+ @) we
hove T(@) s LT. Suppse WE W onete
W) e V= spen e A,y O 5.z,

T"'(w) = (V, +GV ¢t -~ + C,. Vi

_‘;._5 —l-‘(-r""(w]) '::,_W —_— TCC‘V,,"’C;V—L'{"""'f Ch\/n)

S e TG TvR) A GTA),
Thos W S span (T(@)). Neta PER) spen(T(E]) SW

16 almest obvisws. Thas  we  find SPmnT(ﬁ’): w

There fsre T [6) s e bousis L W osma Hr{p LTI
end of _S'[Jﬁn-f,//



§7,3#5-5 énﬁh% | @
(C.) TF Voo Anite é‘_/fmw?j/:mj S
=g U Vi, Y ) which s a bosls for L
By poct (8) T(F) = J70), T, .. Tl)f
o bt for oo K WAl e T

abh (Sarnsl Y205 5/ A@W& F oo
é;’//écﬁbn a. koo, a /'"/ Ca/rff/Jo‘/w/m/lM
s T[p) he Seme T of objeck arfS.

dlein (W) = 1. Y

. x nx# 7

57 44Y8a-b) Lot GE R™ and Tl .

be o{@;r?’lec/ 62_ T (A) = A . Frouc FhoD

(‘l) T i Ainear (6) T ir f/h./?/‘ﬁ?ple !;Gi @ﬂlewh’?.

a.) T (P\.-t-/-\?_) = @ (A +A)

=gA +8 A
- TA) +TCA) VA A e (T
T ois qo(o("h"ve .
T(ch) = g (ch)
= c(8A)

- crn) VAe R and celld

. T s hemeognedw
v




§ 7.9 % L/gé Tﬁl oxtrfy & @;jexrché‘_ @

@ T4 Bﬂi exiscle Al cﬁefhm TEI(X):B”'X VXQ//?T}
Obsevve 1 (Tﬂ‘(x)) ‘—“—T(Gﬁ’(X) = Q(BHIX) =X Vxelll
T ex) = & ex =X . Thw

G T*‘ (Tb‘()) =
Yo Tnverse of T./

T—\ (a; wie C!LU"\’\\(_A H-.) S ’}fwla

" WWe have Hreh

==, Acsame | e x (513
I ﬂ h
v oxe 27

@ T (T )= X

G T (77w = x Vxell
ba U(P_‘Fto-p 1.

nxin

\j\jQ odso  rnow I (x) = Bx
¥ x e [R7" we hes -
/ B = X é BT (x)= X

T (6x)
Chose X = T 4o ke @ inkerhng,
5 T'(f) =T
= e (6) deb (T7(x)) = oo (1) =1

Jdok (8) F 0o = g ex(fsqlf_/

Henwe

jp— . ~| ~|
\ o Swam ol IE‘E/ T exr'g{:( ?r@ 3 exlsf(—,(

o e Yo TR =6A delines T = ([N



